What is the equivalence volume of the second titration?  That is, how many mL of NaOH were added to the solution to cause the solution to turn pink?  Note that you must calculate this volume; it is not the burette reading!

The number of mL of base added to an acid in order to reach the endpoint or equivalence point is called the equivalence volume. The amount of NaOH added was 15.05 ml to turn the solution pink. The liquid volume was 39.97ml and the gas volume was 110.03.
 What is the pH at the equivalence point?


The equivalence point is the point at which equal quantities of opposite solutions exist to cancel each other out. The pH was 11.10 when 15.05 NaOH was added to the HCI and Phenolphthalein mixture. 0.05 mol HCl and 0.05 mol NaOH, the equivalence point is the point where the pH = 7. It exists when 15 mL of 1 M NaOH has been added to the flask.

(I am not sure if they mean when the moles leveled out like after the 15 drops where added (the ml of base for the burette), and the moles for the NaOH was 0.01500 at it’s peak before it turned pink or after it turned pink, because that was the same number of 0.01500 when 16 ml was added, and the same with the second experiment when 15.05 ml were added.)

Calculate the molarity of the HCl from the volumes of acid and base at the equivalence point and the molarity of the NaOH. Use the equation given in the Background section.


This I  am not sure. When titrating a monoprotic acid, such as HCl, with sodium hydroxide (NaOH), the molar ratio for the reaction is 1:1 - that is, one mole of NaOH will neutralize one mole of HCl. I know that the moles went up each time the NaOH was added. when the mixture changed to pink the NaOH moles were 0.01500, at which point it stopped, once it had turned pink. On my data chart it said that there was NaCl which again was constant at 0.015000.
(1 mol/L)(0.015 L) = 0.015 mol of NaOH 

 Generate a titration curve by plotting the pH on the y-axis and the number of mL of base added to the flask on the x-axis.  How do you determine the equivalence volume of the titration from this curve?  What is the equivalence volume according to the titration curve?  Calculate the molarity of the acid using this equivalence volume and the equation provided in the Background section of this laboratory.  Why use a titration curve when the raw data are available in your data table?


A graph called a "titration curve" is used to determine the precise endpoint of titration.  The titration curve is generated by plotting the the pH of the solution vs. the amount of base (in mL) added to the solution. (Quite honestly I do not understand the rest.)
How is the number of moles of NaOH affected at the equivalence point of the solution?  Explain.

(Quite honestly I do not understand the rest.)

Compare the molarity of the acid determined by different individuals in the class.  Are all these values same?  Why, or why not?

